SET-2

Series SSO HIE,
Code No. 65/2/G
A F.
Roll No. ﬁ%ﬂﬁg@ﬁ TR F

Candidates must write the Code on the
title page of the answer-book.

o HUA AT H A foh 38 Y93 H qigd I8 11 ¢ |

o THUA H qfe TN HT IR fGU MU Sig TR Hl BH IA-YER F @I85 W
ford |

o FHUA A R oh M IH-TTH 26 T F |

o  FHUAT T HT IW {TEHT I[E L ¥ UgeA, T 1 HATHh a9 for@ |

e 3T YH-UA I U % AU 15 e &1 wHw fomn mn R |y o foaor qate
T 10.15 o fopam ST@T | 10.15 S99 § 10.30 S ok B had YIH-9F i Tl
3R 38 A & TRHE o IT-YIEIhT T HIg IR @ faE |

e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

Tford

MATHEMATICS

eiRa a7 : 3 g2 37T 37% : 100
Time allowed : 3 hours Maximum Marks : 100
65/2/G 1 P.T.O.




HTHTT (3397

(i)
(it)
(iii)

(iv)

(v)

(vi)

Tyt go7 AT & |

P i F A 1% 59 Fo7-77 4 26 397 & |

GUE I HYH 1 - 6 aF A Tg-FR 917 Fo7 & 3N FdF ¥ F forw
1 3% [FgiRa 8 |

GUE T FHYH 7 -19 % FF-5/ 1 IR & I3 & 3K J9% 97 & forw
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General Instructions :

)
(ii)
(iit)

(iv)

(v)

(vi)

All questions are compulsory.
Please check that this question paper contains 26 questions.

Questions 1 - 6 in Section A are very short-answer type questions carrying

1 mark each.

Questions 7 — 19 in Section B are long-answer I type questions carrying

4 marks each.

Questions 20 - 26 in Section C are long-answer II type questions carrying

6 marks each.

Please write down the serial number of the question before attempting it.
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Qs A
SECTION A

T GEIT ] G 6 TF I9F Jo7 HT1 1 3F & |

Question numbers 1 to 6 carry 1 mark each.

1. 9 o3 (2, a,3),(3,-5,b) @M (-1,11,9) §@ &, @ a + b H 7H F1d
i |

Find the value of a + b, if the points (2, a, 3), (3, — 5, b) and (-1, 11, 9) are

collinear.
— - - o - -
2. AT |a |=10,|b | =27 |a x b|=16%, A a . b % A9 TG
ST |
- > - - - >
Find the valueof a.b, if | a |=10,| b | =2and | a xb | =16.

3. THFR GHAA ¢ . (21 - —2k) =67 r . (61 —3,—6k)=27% &=

1 gl ATd I |

Find the distance between the parallel planes

T .21 —j-2k)=6and T .61 -3j-6k)=27.

2 4 -2 5
4. I A= } qen B{ }%,?ﬁ(SA—B)?ﬂ?rﬁﬁﬂll
3 2 3 4
2 4 -2 5
If A= }andB:{ },thenﬁnd(SA—B).

3 2 3 4

5. Tk y=e™+ax+ bl FEUd w1 I aeha g0 a0 hifvw, STEt
adul b TTH T B |

Find the differential equation representing the curve y = e ™ + ax + b,

where a and b are arbitrary constants.

65/2/G 3 P.T.O.



2 3
6. WW{%J _(g—yj = y3 I S T =1 1 ITh fARGT |

Write the sum of the order and the degree of the differential equation

2
Py (d_yj 3
dx?2 dx Y

Qs d
SECTION B

Jo7 17 & 19 T TAF FoA b 4 3B 8 |
Question numbers 7 to 19 carry 4 marks each.

7. T wed fix) 1 x = 1 T AT 9T x = 2 W AGh=1IdT bl AT hIfoT ;
bx -4 , O<x«<l1
f(x)=| 4x% — 3x , 1<x<2

3x+4 , x2>2

Examine the following function f(x) for continuity at x=1 and
differentiability at x = 2.

bx -4 , O<x<1
f(x) = 4x2 — 3x , 1<x<2

3x+4 , x2>2

2
8. A y=x° 1og[1)é,aﬁﬁ:;—e€r%m% xj—-‘;’ L AN )
X X
rera

B f(x) = (x — 4) (x — 6) (x — 8) & foTu FqUSA [4, 10] § HIET AF YA
geafua ifre |

2
If y =x3 log(lj,then prove that xd—y _ oWy + 3x2= 0.

; dx 2 dx

OR

Verify mean value theorem for the function f(x) = (x —4) (x — 6) (x — 8) on
the interval [4, 10].

65/2/G 4
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Do
|

9. Qﬁizlog a @,?ﬁﬁ?@‘ﬁﬁﬂl%

X-y X—=y
X
>

= log a , then prove that g—y =2 -
X

10. J1d <hif9T ;

dx
X3(X5 + 1)3/5

Find :

dx
X3(X5 + 1)3/5

11. 9 F1d IS :

4
I{|X—2|+|X—3|+|x—4|}dx
2

AYAT

M FTd HIfrT

/4

secx
—-de
1+2sin“x
0

Evaluate :
4

J.{|x—2|+|x—3|+|x—4|}dx
2

OR

Evaluate :
n/4

secx
54
1+2sin“x
0

65/2/G 5
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12.

13.

14.

u2 L2
sin tan_l(lz—xj + cos_lﬁ—xzﬂ =1, O<x«<l1
X + X

AT

af tan_l(x—_gJ+ tan—l[“ﬂ:g 3 x 1 qH T ER

X — X+6

Prove the following :

L2 )
sin{tan_l(lzx J+cos_1(1 Xzﬂzl, O<x<1.
X + X

OR

If tan_l[X

X_

i +tan™! X+5 :E,then find the value of x.
x+6) 4

ARfUTehi < TUTEHT T JAT hieh 1 1 g i

1+a2 b2 2ab —-2b
2ab 1-a2 +b? 2a - (1+a2+b?)3
2b —2a 1-a%2-p?

Using the properties of determinants prove that :

1+a2 -b2 2ab —-2b
2ab 1-a2 +b? 2a - (1+a2+b?)3
2b —2a 1-a%2-p?
2 -1 1

AMYE A=| -1 2 -1 | foIu guifgw 76 A% — 5A + 41 = 0. 31@: A-1 9@

1 -1 2
ST |

YT

65/2/G 6



IR |fshaTsti o T gRT fefaRaa sTegg 1 SIohA I SHITT :

0 1 2
1 2 3
3 1 0
2 -1 1

For the matrix A=| -1 2 -1 |, show that A% _ BA + 41 = O.
1 -1 2
Hence find A .
OR

Using elementary transformations, find the inverse of the following matrix :

0 1 2
1 2 3
3 1 0

15. 9 IH 4T 3R 5 el g 2 991 Id 11 H 3 &1 3R 4 il 6 & | Th g
HAA I W A II | TIFTaRG foham oirar 8 R a9 @ ¢ Ot 11 & (fomm
fcreemo T %) aArgesan el STt € | Feeeht T A WS e o A #
TGN TG o hIeT TT o B <l TTRhAT F1A hHITT |
Bag I contains 4 red and 5 black balls and bag II contains 3 red and
4 black balls. One ball is transferred from bag I to bag II and then two
balls are drawn at random (without replacement) from bag II. The balls
so drawn are both found to be black. Find the probability that the
transferred ball is black.

16. fag (1, -1, 1) & oW awt a fogsli (4, 3, 2), (1, -1, 0) T (1, 2, -1),
(2,1, 1) ¥ BRI aTclt {@TAl % TraIad @ 1 Al qAT hId T FHHT
F1d HIfT |

Find the vector and cartesian equations of a line through the point

(1, =1, 1) and perpendicular to the lines joining the points (4, 3, 2),
(1,-1,0) and (1, 2,-1), (2, 1, 1).

65/2/G 7 P.T.O.



17. oF foeme™m A, B @1 C 39 %9 94 gW fauifeli w1 @ gedi same),
fraftraar qem ek afte o foft R <1 =Ted & | Iodeh foremerd Ik g
% fotu gresr <t wfsr wfa femmeff swer: = 2,500, T 3,100 @1 = 5,100 ffeaa
il g | T arferert dH1 fermert gro qieena faenf it g qunidt g -

5 A B C
kS

Surerd) 3 4 6
foarfraan 1 5 2
HAR gy 6 3 4

JTMRIE! oh TAN ¥ Ydoh {aerd gRI JEhR § & T aTett el URT F1d i |

T eIl o SAfANH 3T Teh 31 Hod Fomsv, fSaeh fofw ft geeer fean s
=T |

Three schools A, B and C want to award their selected students for the
values of Honesty, Regularity and Hard work. Each school decided to
award a sum of ¥ 2,500, ¥ 3,100, ¥ 5,100 per student for the respective
values. The number of students to be awarded by the three schools is
given below in the table :

School A B C
Values
Honesty 3 4 6
Regularity 4 5 2
Hard work 6 3 4

Find the total money given in awards by the three schools separately,
using matrices.

Apart from the above given values, suggest one more value which should
be considered for giving award.

65/2/G 8



18. W Fd HIfVT :

/2

02X 1-sin 2x dx
1 - cos 2x
n/4
Evaluate :
n/2
2% 1 -sin 2x dx
1 - cos 2x
n/4

19. awfsw f =m fag frss foufy wfw 47 +8§ + 12k, 27 +47 +6k,
3/1\ +53’\ +4/1\< LRI 5/1\ +83\+51/<\§,H'H?|Fﬁ'€{§ |
Show that the four points with position vectors 4/i\ + 83'\ + 1212,

AN N A A A AN
21 +4j+6k, 3i +5j +4k and 51 + 8j + 5k are coplanar.

Qus |
SECTION C

J97 G&IT 20 & 26 T T J97 & 6 37 & /

Question numbers 20 to 26 carry 6 marks each.

20. T T TIIT Hleh, WM y — 1 = x, x-318 9T il x = - 2Td x =3
R &= 1 S%a Fa HIT |

Using integration, find the area of the region bounded by the line
y — 1 = x, the x-axis and the ordinates x = — 2 and x = 3.

21. 3Tghd FHIH (y — sin x) dx + (tan x) dy = 0 &l Jfqa-ei y = 03 x = 0
IS S Ira fafire ga 71a i |

Find the particular solution of the differential equation
(y — sin x) dx + (tan x) dy = O satisfying the condition that y = 0 when
x = 0.

65/2/G 9 P.T.O.



22.

23.

k 1 98 M Fa i fees foe f T@d wem owead ®
x+3 y-1 65-z x+2 2-y z

k-5 1 —2k-1" -1 -k 5
3d: 39 I3 hl A-AAE A I GHdA bl GHIHUT FTd hifST |

Find the value of k for which the following lines are perpendicular to each
other :
x+3 y-1 65-z x+2 2-y z

k-5 1 —-2k-1" -1 “k 5

Hence find the equation of the plane containing the above lines.

Sta Shifoe fob Afsham « 1 ¥0= A = R x R W = &9 4 ufoaifyg g,
%WWH@WT%QTW

(a,b)x(c,d)=(a+c,b+d),
&l R, avfi aredfaes denet %1 = 8 | Al Ig fgenard |@fean 3, o1 9@
HIfST 1 I8 Hafang g grg=d Hi 2 | « R dcdHes 31a9Id i J1d kit |

HYAT

A AT b A=(-1,0,1,2,B={—-4,-2,0,2} 3R, g: A > B HAM:
fx) =x2-x,x € AdA g(x) = 2 |X—%| —1,XEA§NQﬁﬂTﬁHW% |
gof(x) Td hIfT, 371d: goMizy fh £= g = gof.
Check whether the operation * defined on the set A=R x R as

(a,b)x(c,d)=(a+c,b+d)
is a binary operation or not, where R is the set of all real numbers. If it is
a binary operation, is it commutative and associative too ? Also find the
identity element of .

OR

Let A={-1,0,1,2},B={-4,-2,0,2} and f, g : A > B be functions

defined by f(x) =x2 - x,x e Aand g(x) = 2 |x — % | —1,x € A. Find gof (x)
and hence show that f = g = gof.

65/2/G 10



24.

25.

26.

65/2/G

x—-"7 .
Y & forg W x-& &l Hiedl 7, 39 o5 § I5h W @i

9t @l 9 AT o FHRWT J1d shifa |

YT

B f(x) = cos? x + sin x, x €[0, 7] % Y I=aw 7H 9 g F=aw 9=

1 I |

Find the equations of the tangent and the normal to the curve

y = x -1 at the point where it cuts the x-axis.
x-2)(x-3)

OR

Find the absolute maximum and absolute minimum values of the

2

function f given by f(x) = cos” x + sin x, x € [0, n].

T AT ek ol 0’ IR IBTAT AT & | AT AgFeseh =X X, Fai i ae
At 8 | I P(X = 1), PX = 2) 991 P(X = 3) THT=R o0l | &, @ n &1 A4
FTd shifrT |

An unbiased coin is tossed ‘n’ times. Let the random variable X denote
the number of times the head occurs. If P(X =1), P(X = 2) and P(X = 3) are
in AP, find the value of n.

Teh TRy 398 | S9aTE TS Ueh 3¢ 1 HHS ¥R 5 fhaliy 8 | 6H ¢ JhR &
TS @ 31E9T & By 3R By, [kt 7o suwn: T 5 i fohetl @ 3 8 ufa fepat
2 | Ot B9 U S¢ H st -3tk 4 fRell By o wH-8-A 2 fohell By
oftiferd g9 =nfge | wife Icarg <t |, €2 it FHiga W i g9 f
T 2, A €2 T 2 e T AT S IR SR # g R
T %1 g T THET SHIR T G & I |

The standard weight of a special purpose brick is 5 kg and it must
contain two basic ingredients B, and B,. B; costs ¥ 5 per kg and B,, costs
T 8 per kg. Strength considerations dictate that the brick should contain
not more than 4 kg of B; and minimum 2 kg of B,. Since the demand for
the product is likely to be related to the price of the brick, find the
minimum cost of brick satisfying the above conditions. Formulate this
situation as an LPP and solve it graphically.

11



QUESTION PAPER CODE 65/2/G
EXPECTED ANSWERS/VALUE POINTS

SECTION -A

Marks

dr'sof AB:1,-5—a,b—3;dr'sof BCare—4,16,9—b or d.r's ofA_b —3,11-a,6 Y%m

getting a=—-1, b=1,

a+b=0

@] |b|sin6 =16 = sing=10_% _ cosp=z2
20 5

-b :|ﬁ| ‘B‘cos@ = %12

o)

[9-6]

d =
27+ (1) + (2)

’ B ﬂ ) {_32 ﬂ

y=c¢*tax+b = Y =—e¢*+a

" dzy _

— — X P Ap— —X
Yy =¢ or i €

Order =2, degree =2

Sum=2+2=4

(any one correct)

16
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Yam
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Yam

Yam
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Yam

vam
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7.

Given

SECTION -B

= loga—log(x —y)

X—-y

Differentiating both sides and getting

x—2y+yﬂ=0
dx
- dy _ 2y — X
dx y
= ﬂzz_i
dx y
I = dx
X3(X5+1)%
_J dx
Y
x3-x3(1+5j
X
1
Put 1+—5:t
X
dx dt
> —=-—=
X 5

17

vom

X % y]

2am

1m

1% m

1m

1m

vom



4 4 4
9. I:I|x—2|dx+.[|x—3|dx+.[|x—4|dx vom
2 2 2

4 3 4 4
= j(x—2)dx+j —(X—3)dX+I (X—3)dX+I —(x —4)dx 2’m
2 2 3 2
ERu bR e e
=|—-2x| - |—-3x| +|—-3x| - |——-4 Im
2 2 2 2 2 3 2 2
=5 am
OR
I—}A sec x dx—? COS X dx
- 0 1+ 2 sin’x - 0 coszx(l+2sin2x)
:? COS X dx .
) (1—sin x)(1+sin x)(1+ 2'sin°x) -
Put sinx=t = cosxdx=dt, when x=0,t=0
x:E t:L 1
43 \/5 Vam

1
. ) dt
0 (1=t) (14 o) (1 28)
1 1
. 2 gt ) dt /5 2 dt

! 6(1—t)+ ! 6(1+t)+ ! 31+ 27) Im

1
1 1+t V2 e
=|=log |—/— | + Ztan"' (V2 t
{6 |+ e )L tm
1
I+ —=
= —log ‘/15 + ~—tan"' (1)
1— =
J2

18



1 T 1 T
= —log [\2+1| + —= or —log 3+22)+ —= 1
3 g‘ ‘ 62 6 g( ) 62 Yy m
. i a0 2x 5
10. LHS =sin | cot 1 5 +2tan X Im
- X
. —n _ 2x -
=sm_§—tanl(l_X2J+2tanlx} Im
=sin g—Ztan‘lx+2tan“x} 1 m
om
=smE=1=R.H.S lm
OR
XxX—5 x+5
+
] x=6 x+6 T
tan = — 2m
1_X—5.X+5 4
X—6 xX+6

(x—5)(x+6)+(x+5)(x—6) 3 tanE
X2 —36— x> + 25 4 I'm
= 2x* = 49 ,m
7
- x=+t 7 Yam
l1+a’—b? 2 ab -2b
11. LHS. = 2 ab l-a’+b’ 2a
2b —2a l-a’-b?

R, >R, +b-R,, R, >R, -aR,

19



l+a’+b? 0 —b(l+a2+b2)

= 0 l1+a’+b? a(l+a2+b2) 1+ m
2b —2a l1-a®—b?
1 0 -b
= (1+a’+b°f [0 1 a Im

2b —2a l-a’-b’

Expanding and getting
A = (1+a*+b*) = RHS. Im
6 -5 5
A= | -5 6 -5 1% m
5 -5 6
6 -5 5 10 -5 5 4 0 0
A -5A+41 = | =5 6 —5|—|-5 10 =5[+]|0 4 0
5 -5 6 5 =5 10 0 0 4
=0 Im
. . -1 . -1 1
Pre multiplyingby A " and getting A = 2 (51-A) Yam
. 3 1 -1
and A = 2 1 3 1 I m
-1 1 3
OR
A=TA I m
01 2 I 00
= 1 2 3|=(01 0]A
310 0 0 1

20



13.

14.

2 3 010

1 2/=|100[A

10 00 1

R, > R, -3R,

2 3 0 1 0
0 1 2[=[1 0 0]|A
0 -5 -9 0 -3 1

0 -1 -2 1 0
01 2|= 0 O0|A
0 0 1 5 =31

0 0 3 -2 1
01 0|=]-9 6 —2| A [operating Row wise to reach at this step] 2'2m
0 0 1 5 =3 1
3 -2 1
-1 _ _ -
AT = 9 6 2 vm
5 -3 1
A Candidate who has made an attempt to solve the question
to be given 4 marks 4m
y= —x’logx Vim
d
e (1+31ogx) I'm

dx

21



d2
d_}z] = — (5x + 6x log x)
X

L.H.S.=x[-(5x+6xlogx)] +2x>(1 +3 log x) + 3x*
=0
= R.H.S.

OR

f(x) = (x=4)] (x-6) (x-8)

= x*—-18x*+ 104 x— 192
Being a polynomial function f(x) is continuous
in [4, 10] and differentiable in (4, 10) with
f'(x) = 3x*-36x+ 104

f(b)—f(a)

3 ce(4,10)-such that f'(c) = b
—a

= 3c¢*-36c+104 = 8
= ¢=438 ;c=4 ¢ (4,10)

¢ =8 : verifies the theoren

15.  Equation of line joining (4, 3, 2) and (1,—1,0)is

x-4 y-3 z-2
-3 -4 -2

Equation of'line joining (1, 2,—1) and (2,1, 1) 1s

x—-1 y-2 z+l1

1 -1 2
Let equation of the required line be

x-1 y+1 z-1

. - = A e, (1)

a

22
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16.

According to the question 3a+4b+2c=0

a—-b+2c=0

(i = Equation ofthe line is

x 1 - y+1 - z—1 [cartesian form]
10 -4 -7

Vector form, ¥ = (i—j+k)+2 (10 - 4j - 7k)

H R HW
A3 4 6 2500
B|4 5 3 3100
cl6 2 4 5100
50500
= | 40800
41600

Hence money awarded by A = Rs. 50500
money awarded by B = Rs. 40800

money awarded by C = Rs. 41600

Respect forelders or Any relevant value

23
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e 1 —sin 2x dx
I—cos2x

—
3
[
Il
A=

%2x 1 — 2 sin cos X
- Ie 2sin? x dx
A
A
_ J‘ (] 2% _cotx |d
= |e Ecosecx cot x | dx 1%4m
A
Put 2x=t = dX:%
hen x = &, t=2:, x=2 t=g 1
whien ) 29 27 m
1§ (1 t t
I = — .[et — cosec’ — —cot— |dt
2 - 2 2 2
7
I A
——E co E c . Im
2
%
_ Yam
2
18.  Let OA = 4i+8j+12k, OB = 2i+4j+6k
&=3f+53+4f<,@=5f+8}'+5f{
AB = —2i-4j-6k, AC = —1-3j-8k, AD = i-7k 1Y2m
-2 -4 -6
Now, [AB AC AD|=|-1 -3 -8|=0 2m
1 0o -7
A, B, C, D are coplanar Yam

24



19. Let E, :Event that transferred ballis black
E,:Event that transferred ball is Red

E,:Event that balls drawn are black

5 4
P(E)= 9’ P(E)= 9

’C, 5 ‘c, 3
P(AJE,) = . =11 PAE)= C =12
P(E/A) = P(E)-P(AE)
! P(E,) P(A/E))+P(E,) P(A/E,)
S 3
B 9" 14
9 14 9 14
_ 2
37

SECTION-C

d
20. (y-sinx)dx+(tanx)dy=0 = d—z+cotxy=cosx

Linear diff. equ. with P =cot x, Q=cos x

I.LF. = sinx

Solutionis y-sinx = Icosx-sinxdx+c

1
= ——Ccos2x+¢c
4

when x=0, y=0 = c:%

Particular solution is

sin’x

ysinx = %(—cos2x+l) =

= yzésinx

25
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21.

22.

d-r's offirst line : k—5,1, 2k +1

d-r's of2nd line : -1, k, 5

lines are |

= k=-1

1 (k=5)+k(1)+52k+1)=0

x+3 y—-1 z-35
-6 -1 -1

Eqns of lines become and

Eqn ofplane containing these two lines is

= 4x+3ly+7z=54

(a,b) * (c,d) = (a+c,b+d) V ab,c,deR

x+2 y-2 z

-1

-1

Since a+ceR and b+deR = (a+c,b+d) eRxR

ie. “*’ isbinary operation
For commutative
consider (c,d) * (a,b) = (c+a, d+b)
= (atc, bt+d)
= (a,b)* (c,d)
= “*’ is commutative

For Associative

Let (a,b), (c,d), (e,f) eRxR = A

[(a,b) *(c,d)] * (e, ) = (at+c, b+d)* (e 1)
=(atcte,b+d+f)
again (a, b) * [(c, d)] * (e, )] = (a,b) *(c +e,d+ 1)

=(atcteb+td+9

26
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23.

(1) & (i) = “* isassociative

For identity element

Let (e, €,) € R xR be theidentity element (if exists)

then (a,b) * (e, e,)=(a,b)= (e, ¢,) *(a, b)
= (e,¢)=(0,0) eRxR
OR
f(x)= x’—x; xe{-1,0,1,2}
f(-1)=2, £(0)=0, £f(1)=0, f(2)=2
f={(-1,2),(0,0),(1,0),(2,2)}

g(x)=2

1
X—E‘—l vV xe {-1,0,1,2}

g(=1)=2,g(0)=0, g(1)=0, g(2)=2
g=1{(-1,2),(0,0),(1,0),(2,2)}
(gof) (x) = g(f(-1), g(f(0), g(f(1), g(f(2) V xeA
=2,0,0,2
gof ={(-1,2),(0,0),(L,0),(2,2)}
Hence f= g = gof
Given curve cuts the x— axis wheny =0

wheny=0, x=7, hence point is (7, 0)

dy 1-y(@x-5)

dx x> —5x+6
ﬂ} _ 6
dx 7.0 20

1
Equation of the tangentis y—0 = 20 (x=7)

= x-20y=7
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24.

Equation of the normalis y—0 = —20(x—7)
= 20x+y=-7
OR

f(x)= Cos’X +sin X, X € [0, n]

f'(x)=cosx (—2sin x +1)

yis T Sm

For extremum, f' (x)=0 = x=— or x=—, —

xtremum, £ (x) 5 e
Now f(0)=1, f| X :é’ £l E)=1, f on :é’ f(n)=1

6 4 2 6 4

Absolut 'éatx—Eands—Tt
solute max. is 4 > 6

Absolute min. is 1 at x=0, % and w

y=X+19 X=_27 x=73

)
/[

, e

ISR

K

N &

/

’MIY

-1

j(x+l)dx

-2

Reqd area =

+ j[(x+l)dx

= H $g. units
;
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25. Let x denote no. ofheads

1
here p= —-, q=

[\
N | =

Now P(x=1) = "C, %
n 1)

P(x=2) ="C, |5

n 1Y

P(x=3) = "C; |5

According to the question
n 1 ! n n 1 !
2. °C, (EJ ~("c,+ (%)(EJ
= n=2or7

ncannotbe2 Hence n=7

26. LetxkgofB, and ykgofB,istaken

then to minimize Z= 5x + 8y

subject to the following constraints

x+ty=5, x<4, y>2

13 x>0, y>0
Rj aty=56
.\ x =4
\\T;z,
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